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Constructa scatter plot. Find the slope-intercept form of the equation of the line that best fits
the data and its 2 value.
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3) The rumber of marriage licensesissuedby
Clark County Nevads, the county where
Las Vegasis located, fas been decreasing.
since the year 2000:

This can be modeld by the eqston
3= -7 710890s - 709640000 where
isthe yearand y is the mmber of
marriage licenses isued

Mariago Licerses

po

According to the modd, in what year id Clark County issue 130,000 marriage licenses?
Disregard years before 1990. Round your answer to the nearest year.
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4) Brenda collects coins. Over a three-year
period she collected 1,000 nickels After
organizing them by year, she found that the
‘umber of nickels from a given year was.
related to the mmber minted that year:

D) 2083

Brenda discovered that this can be modeled
by the equation y = 2.89x— 45 where xis
the mmber of rickels minted in a particular
‘year in hundreds of millions and y is the
‘number o rickels from that year inher

sanple.

HinSangle

#MMinted (100 million)

Asample of 1,000 rickels contains 30 from a particular year. According to the model, how many
swould you expect to have been minted that year? Round your answer to the nearest terth of 2
fnded million.

2) 142 fundred milfion rickels
©) 123 fundred million sickels.

B) 9.5 tundred million nickels
D) 106 tundredmillion nickels
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Constructa scatter plot. Find the slope-intercept form of the equation of the line that best fits
the data and its 2 value.
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